2.1.1

Chapter 2 – Multiple Choice - Questions
1.
There is a growing recognition that a primary source of competitive advantage derives from an organisation's…


1
marketing strategy


2
human resources


3
product development


4
motivation of employees

2.
According to Barney, an organisation's resources can be classified into four groups. These include the following, with the exception of…


1
financial capital resources


2
human capital resources


3
marketing capital resources


4
organisational capital resources

3.
According to Barney, the following are examples of organisational capital resources, except…


1
compensation policies


2
reporting structure


3
management control systems


4
manufacturing facilities

4.
To determine a resource's value, management must ask four questions. Which of the following is not one of these questions?


1
the question of value


2
the question of rareness


3
the question of diversity


4
the question of organisation

5.
By aligning an organisation's strategy and its resources with the environment, superior performance can be achieved. This alignment is known as….

1
competitive advantage


2
strategic specialised bundle


3
strategic fit


4
strategic management

6.
The alignment of the organisation's strategy and its resources with an ever-changing internal and external environment is important. The ability to adjust to these changes is referred to as…


1
strategic management


2
strategic fit


3
competitive advantage


4
strategic flexibility

7.
According to Wright & McMahan, human resources can exist as a sustained 
competitive advantage only if it exhibits a number of characteristics. Which of 
the following is not one of these characteristics?


1
the inimitability of HR


2
the rarity of HR


3
the diversity of HR


4
the substitutability of HR

8.
A number of paradigms exist which explain the contribution of HR to organisational performance. Which of the following is not one of these paradigms?


1
the new executive paradigm


2
the process paradigm


3
the resource-based view paradigm


4
the best-practices paradigm

9.
The biggest problem facing the resource-based view (RBV) approach, especially in human resources, is the possibility of…


1
resistance from management


2
employee turnover


3
resistance from employees


4
resistance from labour unions

10.
The following alternatives can be considered to limit the damage done to an organisation as a result of the loss of competencies, except…


1
the design and implementation of turnover management strategies


2
the active involvement of all stakeholders, including unions


3
the allocation of a bigger portion of the profits to employees by means of gainsharing or share-options


4
the creation of a culture of belonging within the organisation

11.
The “best practices” approach to the development of a sustained competitive advantage implies that _________________.

1
there is an effort to obtain the latest information technology

2

there is an effort to develop company-specific competencies

3

there is an effort to develop company specific processes

4

there is a direct relationship between particular HR approaches and company performance

12.
The new interest in HR as a strategic lever that can have economically significant effects on a company's bottom line appears to be shifting the focus more towards ___________.

1
staff retention

2
motivation of employees

3
value creation

4
product development

Read the information below and then answer questions 13 and 14

Unisa has been concentrating on distance tertiary education since 1946. This institution is one of only 11 mega distance teaching universities in the world. Therefore, the institution’s academic and administrative staff focus on empowering themselves on the basic principles of distance education. However, more and more universities in South Africa are embarking on distance education as it is the only way to attract students from the remote parts of the country and across the world.

13.
Which of the following can be classified as organisational capital resources of Unisa?

1
the organisational culture that are attributes of groups of individuals associated with Unisa

2
Unisa’s equity-retained earnings

3
the wisdom of Unisa’s individual managers

4
Unisa’s buildings and equipment

14.
Which one of the following situations will ensure a sustained competitive advantage for Unisa?

1
Unisa utilises the most advanced technology in distance education

2
Unisa has an impressive and one of the largest libraries in Southern Africa

3
Unisa appoints the best academic and administrative employees available

4
Unisa has the most modern building complex in South Africa

15.
The process paradigm is anchored in both the ____________________.

1
resource-based view and the best practices theory

2
structural design view and the best practices theory

3
resource-based view and the performance theory

4
structural design view and the performance theory

16.
Which of the following does not contribute to the “best“ HR practices paradigm?

1
participative problem-solving 

2
enhancing the skill base of employees through HR activities

3
promotion of empowerment

4
role behaviours as enduring competitive advantage

17.
According to Barney an organisation’s resources can be classified into four groups. Choose the option below which correctly reflects the match between the two columns (The type of resource in Column A and the example in Column B):

	Column A
	Column B

	A
	Financial Capital Resource
	A
	Debt

	B
	Physical Capital Resources
	B
	Machines and buildings

	C
	Human Capital Resources
	C
	Knowledge and experience

	D
	Organisational Capital Resources
	D
	History, relationships and trust



1

	Column A
	Column B

	A
	C

	B
	D

	C
	A

	D
	B



2

	Column A
	Column B

	A
	A

	B
	B

	C
	C

	D
	D



3

	Column A
	Column B

	A
	D

	B
	A

	C
	B

	D
	C



4

	Column A
	Column B

	A
	B

	B
	A

	C
	D

	D
	C


18.
In which of the following groups of statements are the four correct questions asked? The value of a resource can be determined by asking the following four questions:

1
do the company’s resources make it possible to exploit opportunities in the environment; how many other organisation’s already possess this valuable resource; how expensive will it be for a competitor to copy the resource; and is the business organised to exploit the full potential of the resources?

2
is the business organised to exploit the full potential of the resources; is a common but valuable resource essential for an organisation’s survival; do the company’s resources make it possible for the organisation to exploit opportunities in the environment and how many other organisations already possess this valuable resource?

3
do the company’s resources make it possible for the organisation to exploit opportunities in the environment; how many other organisations already possess this valuable resource, is a common but valuable resource essential for the organisation’s survival; and is the business organised exploit the full potential of the resources?

4
is the business organised to exploit the full potential of the resources; will businesses that do not own this resource be faced with prohibitive expenses to obtain a resource that other businesses already own; is a common but valuable resource essential for an organisation’s survival; and how many other organisations already own this resource?

19.
The ______________ perspective assumes that there are certain best HRM practices that will contribute to, for example, increased financial performance of a company, regardless of the strategic goals of the company.
1
universalistic

2
contingency

3
transformational

4
configurational

20.
The extrinsic motivation level in the interest alignment model of Gottschalg and Zollo implies that it is _____________________.

1
influenced mostly by the goals of the organisation 

2
the enjoyment the individuals experience in completing the task in the work environment 

3
driven by the goal of engaging in behaviour that is compliant with the norms and values of the organisation 

4
most directly influenced by the reward system that specifies rewards for a given behaviour, it also includes power and recognition 

21.
The degree to which the members of the organisation are motivated to behave in 
line with the organisational goals is called ______________.

1
individual interest alignment 

2
competitive advantage 

3
organisational interest alignment 

4
sustained competitive advantage 

22.
This approach suggests that HR systems can contribute to a sustained competitive advantage by facilitating the development of competencies that are company-specific.


1
the new executive paradigm


2
the process paradigm


3
the resource-based view paradigm


4
the best-practices paradigm

23.
The process paradigm integrates _________ considerations with social legitimacy aspects.

1
political


2
legal


3
psychological


4
economic

24.
The __________________ motivation level is the enjoyment the individuals experience in completing the task in the work environment.

1
hedonic intrinsic 


2
intrinsic


3
extrinsic


4
normative intrinsic

25.
The universal adoption of best practices leads to ______________________, as people come and go, but processes remain and improve the company.

1
employee heterogeneity 


2
company homogeneity


3
employee homogeneity


4
company heterogeneity

2.1.2 

Chapter 2 - Multiple Choice - Answers
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3, (Sec 2.2)
3.
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7.
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10.
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11.
1, (Sec 2.3.2)
12.
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13.
1, (Sec 2.2)

14.
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15.
1, (Sec 2.3.3)

16.
4, (Sec 2.3.2)

17.
2, (Sec 2.2)

18.
1, (Sec 2.2)

19.
1, (Sec 2.3.2)

20.
4, (Sec 2.3.1)

21.
3, (Sec 2.3.1)

22.
3, (Sec 2.3.1)

23.
4, (Sec 2.3)

24.
1, (Sec 2.3.1)

25.
2, (Sec 2.3.3)

2.2.1

Chapter 2 - True/False - Questions

1
Employee involvement and most of the management practices that are part of it have been shown to have no significant positive effects on organisational effectiveness.

2
The new interest in HR as a strategic lever that can have economically significant effects on an organisation's bottom line aims to shift the HR focus towards value creation.

3
The resource-based view plays a key role in achieving a competitive advantage and describes an organisation as a bundle of resources that enables it to conceive and implement strategies that will lead to above-average returns.

4
One of the questions to be asked by managers to determine a resource's value is the question of rareness.

5
The components of a proper organisation structure (e.g. formal reporting structure, explicit management control systems and compensation policies) are seen as complementary resources, for they have in isolation a limited ability to generate a competitive advantage.

6
The traditional strategy model sees company resources as homogeneous and mobile across companies in an industry.

7
The best-practices paradigm approach implies that there is no direct relationship between particular HR approaches and organisational performance.

8
According to the process paradigm, HR processes within an organisation are evolutionary; in other words, they continuously evolve and adapt by drawing on past experiences to refine the effectiveness of processes and to meet the changing needs of the organisation.

9
For a resource to be considered a sustained competitive advantage it must not have substitutes.

10
The best-practices paradigm is the only approach to effectively sustain a competitive advantage for an organisation.

11
The universal adoption of best practices leads to company homogeneity, as people come and go, but processes remain and improve the company.

12 The contingency approach attempts to link HRM systems/practices to specific organisational strategies.

13
The configurational approach argues that the fit of HRM practices/systems with the company strategy is a vital factor but that there are specific 'ideal types' of HRM systems/practices that provide only vertical fit of HRM systems/practices to the organisational structure and strategic goals.

14
Organisation learning creates, transfers and institutionalises knowledge throughout the organisation, which increases its adaptability.

15
According to Gottschalg and Zollo the extrinsic motivation level is most directly influenced by the reward system that specifies rewards for a given behaviour, it also includes issues such as power and recognition.

16 The process paradigm is anchored in both the resource-based view and the best-practices theory.

17
Strategic fit is the alignment of company strategy and its resources with the environment.

18
Organisations cannot obtain a competitive advantage by adopting a management style that involves employees in the business of their organisation.

19
A firm can only have a sustained competitive advantage when it is implementing 
a value creating strategy not simultaneously being implemented by any current 
competitors.

20
A firm is said to have a competitive advantage when it is implementing a value creating strategy not simultaneously being implemented by any current or potential competitors and when these other firms are unable to duplicate the benefits of this strategy.

21
The resource-based view (RBV) is based on the assumption that companies within an industry or group may be heterogeneous with respect to the strategic resources they control and that these resources are perfectly mobile across the industry or group.

22
To determine the value of a resource managers ask the question whether a company's resources add value by enabling it to exploit the opportunities and/or neutralise the threats in the company's environment. The answer to this question implies that managers link the analysis of internal resources with the analysis of environmental opportunities and threats.

23
According to Barney a company’s resource can be divided into four categories, namely financial capital resources, physical capital resources, psychological capital resources and organisational capital resources.

24
HR has no role to play in gaining a competitive advantage.

25
The universalistic approach assumes that there are certain best HRM practices that will contribute to, for example, increase financial performance of a company, regardless of the strategic goals of the company.

2.2.2

Chapter 2 – True/False - Answers

1.
False, (Introduction)
2.
True, (Introduction)
3.
True, (Sec 2.2)

4.
True, (Sec 2.2)
5.
True, (Sec 2.2)
6.
True, (Sec 2.2)
7.
False, (Sec 2.3.2)
8.
True, (Sec 2.3.2)
9.
True, (Sec 2.3)
10.
False, (Sec 2.3.2)
11.
True, (Sec 2.3.3)

12.
True, (Sec 2.3.2)

13.
False, (Sec 2.3.2)

14.
True, (Sec 2.3.3)

15.
True, (Sec 2.3.1)

16.
True, (Sec 2.3)

17.
True, (Sec 2.2)

18.
False, (Introduction)

19.
False, (Sec 2.1)

20.
True, (Sec 2.1)

21.
False, (Sec 2.1)

22.
True, (Sec 2.2)

23.
False, (Sec 2.2)

24.
False, (Sec 2.3)

25.
True, (Sec 2.3.2)

2.3.1

Chapter 2 - Complete the statements - Questions

1
The well-being of the citizens of any country is inextricably linked to the ______________ of their organisations.

2
An organisation is said to have a sustained competitive advantage when it is implementing a (a) _______________  creating strategy not simultaneously being implemented by any current or potential competitors, and when these competitors are unable to (b) ______________ the benefits of this strategy.

3
The resource-based view of competitive advantage differs from the traditional strategy paradigm in that the resource-based view is (a) ________________ focused, whereas the traditional strategic analysis has an (b) ______________ environment focus.

4
An organisation's competitive advantage potential depends among other factors on the value, (a) _____________ and imitability of its resources, as well as a proper organisation (b)__________.

5
According to Galbraith, a flexible system can be a valuable resource as a result of its ________________.

6
The process paradigm approach integrates (a) __________________ considerations with (b) ________________ legitimacy aspects.

7
The resource-based view paradigm suggests that HR systems can contribute to a sustained competitive advantage by facilitating the development of ______________ that are organisation-specific.

8
Human capital resources include the


(a) _____________________,


(b) _____________________,


(c) _____________________, and


(d) _____________________


of individual managers and workers associated with a company.

9
Researchers have recently found that bundles or systems of HR practices have more influence on organisation performance than individual practices working in ______________.

10
Organisation-specific HR processes are established by developing and exchanging information throughout the entire organisation. This process is called organisation (a) ______________ and creates, transfers and institutionalises knowledge throughout the organisation, thus increasing its (b) ______________.

11
According to Barney a firm is said to have a (a) ________________ when it is implementing a value creating strategy not simultaneously being implemented by any current or potential competitors. A firm is said to have a (b)__________________ when it is implementing a value creating strategy not simultaneously being implemented by any current or potential competitors and when these other firms are unable to duplicate the benefits of this strategy.

12
A company’s resources can be divided into four categories according to Barney. These include (a) _____________ (e.g. debt, equity-retained earnings), (b) _____________ (e.g. machines, manufacturing facilities and buildings, (c) ______________________ (e.g. knowledge, experience, insight and wisdoms of employees associated with a company and (d) _____________________ (e.g. the history, relationships, trust and organisational culture that are attributes of groups of individuals associated with the company).

13
In the resource-based view of competitive advantage, interest alignment should be used as a measure of the correspondence between (a) ______________________ and (b) _______________________ goals. 

14
According to Gottschalg and Zollo there are three motivation levels in interest alignment these are: (a) _______________________, (b) _____________________ and (c) ________________________.
15
The hedonic intrinsic motivation level implies that it is the enjoyment the individuals experience in completing the task in the work environment. It can be influenced by changes in the design of (a) _________________ and the (b) ______________.

16
The ___________________ approach implies that there is a direct relationship between particular HR approaches and company performance.

17
(a) __________________ refers to the internal consistency of the organisation's HR policies or practices and (b) _______________ refers to the congruence of the HR system with other organisational characteristics such as the company strategy.

18
(a) ______________ occurs when an imitating company builds the same kind of resources it has established the competitor possesses; while, in the case of (b) ______________, a similar resource may be found that provides the same result.

19
To determine a resource's value, managers must address four questions 
concerning (a)-____________________, (b)_____________________, 
(c)____________________ and (d) ______________________. 

20
Human resources that exist as a sustained competitive advantage should provide value to the company. The assumption is made that there is a heterogeneous (a) ___________ and (b) ____________ of labour.

21
According to Gottschalg and Zollo organisations can influence interest alignment in a positive manner by utilising three levers, these are (a) _______________, (b) ______________ and (c) ______________. 

22
Huselid's work reflects what has become known as the universalistic approach to strategic HRM. According to the author, this perspective assumes that there are certain _______________ that will contribute to, for example, increase financial performance of a company, regardless of the strategic goals of the company. 

23
The contingency approach differs from the universal approach in that research undertaken here attempts to link HRM systems/practices to ________________ organisational strategies.

24
The (a) _____________ process is the engine of renewal that can be used to continually adjust the way in which a company selects, trains, socialises and evaluates its human capital, and that enables a company to (b) ___________ its strategy effectively.

25
The configurational approach to strategic HRM and argues that it is the ______________ of HRM practices/systems that contribute to the attainment of organisational goals. 

2.3.2

Chapter 2 - Complete the statements – Answers
1.
effectiveness, (Introduction)

2.
(a) value (b) duplicate, (Sec 2.1)
3.
(a) company (b) industry, (Sec 2.2)
4.
(a) rareness (b) structure, (Sec 2.2)
5.
transferability, (Sec 2.2)
6.
(a) economic (b) social, (Sec 2.3)
7.
competencies, (Sec 2.3.1)
8.
(a) knowledge (b) experience (c) insight (d) wisdom, (Sec 2.2
9.
isolation, (Sec 2.3.2)
10.
(a) learning (b) adaptability, (Sec 2.3.2)
11.
(a) competitive advantage (b) sustained competitive advantage, (Sec 2.1)

12.
(a) financial capital resources (b) physical capital resources (c) human capital resources (d) organisational capital resources, (Sec 2.2)

13.
(a) individual (b) organisational, (Sec 2.3.1)

14.
(a) the extrinsic motivation level (b) the hedonic intrinsic motivation level (c) the normative intrinsic motivation level, (Sec 2.3.1)

15.
(a) individual tasks (b) task context, (Sec 2.3.1)

16.
best practices, (Sec 2.3.2)

17.
(a) Horizontal fit (b) vertical fit, (Sec 2.3.2)

18.
(a) Duplication (b) substitution, (Sec 2.2)

19.
(a) value (b) rarity (c) inimitability (d) organisation, (Sec 2.2)

20.
(a) demand (b) supply, (Sec 2.3)

21.
(a) reward system (b) job design (c) socialization regime, (Sec 2.3.1)

22.
best HRM practices, (Sec 2.3.2)

23.
specific, (Sec 2.3.2)

24.
(a) HR (b) execute, (Sec 2.3.3)

25.
pattern, (Sec 2.3.2)

2.4
Chapter 2 - Answers to review questions in textbook, page 42

1.
Write a short paragraph on the rareness of HR.

Answer: (Sec 2.3)
Human resources with high ability levels are rare due to the normal distribution of ability. A good example of this is the selection process. The aim of the selection process is to choose those individuals who have the best abilities and those who will match the requirement of the job the best. Human resources can thus serve as a competitive advantage for the company. 

2.
According to Barney, imitation can occur in at least two ways. Explain 

briefly.

Answer: (Sec 2.3)
To determine a resource's value, managers must address four questions concerning value, rarity, inimitability and organisation. Imitation can occur by means of duplication or by substitution. Duplication occurs when an imitating company builds the same kind of resources it has established the competitor possesses. In other words they investigate what competitors are doing and then attempt to duplicate this. Substitution on the other hand means that a similar resource may be found that provides the same result. It is important to note that some competing companies might find the imitation of a company's resources difficult as a result of historical reasons. For example, many resources are built up over years through trial and error within companies, making them unique reflections of personalities, experiences and relationships that can exist only in one company. Another obstacle might be the social integration of resources through trust, friendship, teamwork and culture, which will make them virtually impossible to imitate. One also needs to keep in mind that you can appoint people with similar qualifications and experience but it will be impossible to totally duplicate or substitute this.

3.
Explain the resource-based view paradigm and its application in interconnected firms. Also refer to the motivation component of the human resources assets as it relates to this paradigm.

Answer: (Sec 2.3.1)
This approach suggests that HR systems can contribute to a sustained competitive advantage by facilitating the development of competencies that are company-specific. However, one of the biggest problems facing the resource-based approach, especially its human resources, is the possibility of employee turnover. Building competencies that do not stay long can have a negative effect on the competitive advantage enjoyed by the company. To limit the damage that can occur as a result of losses, companies can design and implement turnover management strategies. Other approaches that can be implemented include the allocation of a bigger portion of the profits to employees by means of gainsharing or share-options. To further enhance this process, a culture of belonging can also be created within the company.

Performance implications from a human resources perspective thus go much further than the knowledge/competencies the human resources have, it also involves their motivation. Accordingly, an integral part of all the processes mentioned above is the motivation of employees within a company. In the resource-based literature this is called the level of interest alignment, i.e. the degree of alignment of individual interest with organisational goals. This can also be described as "the improvement in organisational performance due to changes in employee behaviour obtained through increased interest alignment that accrues to the organisation". 

Two aspects are important here namely: (1) the degree to which the behaviour helps individuals to meet their goals and (2) the relevance of each organisational goal to the individual (individual motivational preferences) - individual goals are not always in line with organisational goals. It is thus helpful, especially in the resource-based views of competitive advantage, to use the concept of interest alignment as a measure of the correspondence between individual and organisational goals. Organisational interest alignment on the other hand can be defined as "the degree to which the members of the organisation are motivated to behave in line with organisational goals". 

A high level of interest alignment can be realised at three levels of motivation by three interest alignment levers, namely; reward system, job design and the socialisation regime. The three motivation levels that are important here are: (1) the extrinsic motivation level - this is most directly influenced by the reward system that specifies rewards for a given behaviour, it also includes issues such as power and recognition, (2) the hedonic intrinsic motivation level - this is the enjoyment the individuals experience in completing the task in the work environment. It can be influenced by changes in the design of individual tasks and the task context and lastly (3) the normative intrinsic motivation level - this is driven by the goal of engaging in behaviour that is compliant with the norms and values of the organisation. This can be influenced by the socialisation processes within the organisation. Thus, organisations can influence interest alignment positively through adjustments of the three interest alignment levers namely: the reward system, the socialisation regime and changes to job design.

It is important to note that companies do not only exist in isolation but also form alliances with other companies. According to recent empirical work alliance partners can play a significant role in shaping the resource-based competitive advantage of the company through network resources. The fundamental assumption of the resource-based view that companies must own or at least fully control the resources that confer competitive advantage is incorrect. Ownership or control of resources is not a necessary condition for competitive advantage. It is the services that resources provide, not the resources themselves that generate value for the company. 

When an alliance is formed, each participating company endows a subset of its resources to the alliance with the expectation of generating common benefits from shared resources of both companies. Therefore, each company possesses a subset of shared resources and a subset of non-shared resources that together form its complete set of resources. In view of this new development, it is clear that to gain and sustain the competitive advantage will depend less on traditional resource-based view conditions and more on the relational capability, that is, a company's capacity to form and maintain valuable interactive relationships with alliance partners. Alliances can take different forms, including joint ventures, franchising, long-term marketing and licensing contracts, reciprocal trade agreements, R & D partnerships and affiliation in research consortia. In its broadest sense it can also include outsourcing partners.
4.
Explain the best-practices paradigm.
Answer: (Sec 2.3.2)
The best-practices paradigm implies that there is a direct relationship between particular HR approaches and company performance. Some of the HR practices that can be related to company performance are compensation, selection and training activities. In more recent research evidence has shown that bundles or systems of HR practices have more influence on company performance than individual practices working in isolation. There is a lot of support for a best-practices approach to HR but there are some differences as to what constitutes bundles of 'HR best practices'. The focus is to enhance the skill base of employees through HR activities for example selective staffing, comprehensive training and broad developmental efforts like job rotation and cross-utilisation, the promotion of empowerment, participative problem-solving and teamwork. Another aspect that is important in the best-practices paradigm is the creation of role behaviours which means that company strategies dictate certain unique attitude and role behaviours from employees, and HR practices are the primary means to make this happen. This is not necessarily a sustained competitive advantage because of the fact that this can be duplicated. 

When HR practices are matched with organisation’s competitive requirements which are linked to the goals of the company the impact of HR practices on the performance of the company can be enhanced. This brought about the strategic approach. Here three perspectives emerged, namely a universal approach, a contingency approach, and a configurational approach. The universalistic approach to strategic HRM assumes that there are certain best HRM practices that will contribute to, for example, increased financial performance of a company, regardless of the strategic goals of the company. 

Delery & Doty identified seven practices consistently considered to be strategic in nature. The practices are internal career opportunities, formal training systems, appraisal measures, profit sharing, employment security, voice mechanisms, and job definition. It is interesting to note that these practices were utilised in several analyses to test the soundness of the three dominant theoretical perspectives mentioned earlier, namely the universal, contingency and configurational perspective. The results of the analyses provided some support for each of the three perspectives.

Other researchers argue that a contingency perspective is more appropriate to strategic HRM. The contingency approach differs from the universal approach in that research undertaken here attempts to link HRM systems/practices to specific organisational strategies. A closely related body of research calls for a configurational approach to strategic HRM and argues that it is the pattern of HRM practices/systems that contribute to the attainment of organisational goals. Similar to the contingency approach, this approach (configurational) argues that the fit of HRM practices/systems with the company strategy is a vital factor but that there are specific 'ideal types' of HRM systems/practices that provide both horizontal and vertical fit of HRM systems/practices to the organisational structure and strategic goals. The configuration of practices/ systems that provides the tightest horizontal and vertical fit with any given strategy would then be the ideal type for an organisation pursuing that particular strategy. Horizontal fit refers to the internal consistency of the organisation's HR policies or practices and vertical fit refers to the congruence of the HR system with other organisational characteristics such as the company strategy.

5.
Explain the process paradigm.

Answer: (Sec 2.3.3)

This approach is anchored in both the resource-based view and the best-practices theory. The creators of this approach, Raphael Amit and Monica Belcourt, refer to HR processes as the deeply embedded company-specific dynamic routines by which a company attracts, socialises, trains and motivates, evaluates and compensates its HR.

Company-specific HR processes - are established by developing and exchanging information throughout the entire organisation. This process, sometimes called organisation learning, creates transfers and institutionalises knowledge throughout the organisation, which increases its adaptability. HR processes within a company are evolutionary, meaning that they are continuously evolving and adapting by drawing on past experiences to refine the effectiveness of processes and to meet the changing needs of the organisation. Thus, the HR processes can become one of the company's strategic assets if they are able to help it realise superior profitability.

HR processes is the engine of renewal that can be used to continually adjust the way in which a company selects, trains, socialises and evaluates its human capital, and that enables a company to execute its strategy effectively. The universal adoption of best practices leads to company homogeneity, people may leave or join the company but processes remain and this can improve the company. The crux is that the manner in which things are done is important not what is produced.

6.
Give a brief explanation of the term 'competitive advantage'.

Answer: (Sec 2.1)

A firm is said to have a competitive advantage when it is implementing a value creating strategy not simultaneously being implemented by any current or potential competitors. A firm is said to have a sustained competitive advantage when it is implementing a value creating strategy not simultaneously being implemented by any current or potential competitors and when these other firms are unable to duplicate the benefits of this strategy. Company resources have a major role to play in obtaining the competitive advantage.

7.
According to Barney, an organisation's resources can be classified into four groups. Name them.

Answer: (Sec 2.2)

· financial capital resources - including debt, equity-retained earnings;

· physical capital resources - including physical technology, machines, manufacturing facilities and buildings;

· human capital resources - including knowledge, experience, insight and wisdoms of employees associated with a company; and

· organisational capital resources - the history, relationships, trust and organisational culture that are attributes of groups of individuals associated with the company. A company's formal reporting structure, explicit management control systems and compensation policies.

8.
Briefly discuss the four questions which determine a resource's value.

Answer: Sec 2.2

· The question of value. The first question that must be asked is: do a company's resources add value by enabling it to exploit the opportunities and/or neutralise the threats in the company's environment? By answering this question, managers link the analysis of internal resources with the analysis of environmental opportunities and threats. This is important as the resources of a company cannot be valuable in a vacuum; the company must be able to exploit opportunities and/or neutralise threats.

· The question of rarity. The second question that needs to be answered is: how many other companies already possess the valuable resources? The valuable resources must be rare among the competing companies in order to be a source of competitive advantage. However, this does not mean that a common, but valuable resource is not important; it might be essential for a company's survival.

· The question of inimitability. The third question that can be asked is: do companies without a resource face a prohibitive cost disadvantage in obtaining the resources other companies already possess? Having a valuable and rare resource can at least provide a company with a temporary competitive advantage. However, if a competing company does not find it too expensive to imitate this resource, the competitive edge will soon disappear. If imitation is too expensive, the first company will retain its competitive advantage. According to Barney, imitation can occur in at least two ways: by duplication or by substitution. Duplication occurs when an imitating company builds the same kind of resources it has established the competitor possesses; while, in the case of substitution, a similar resource may be found that provides the same result. It is important to note that some competing companies might find the imitation of a company's resources difficult as a result of historical reasons. For example, many resources are built up over years through trial and error within companies, making them unique reflections of personalities, experiences and relationships that can exist only in one company. Another obstacle might be the social integration of resources through trust, friendship, teamwork and culture, which will make them virtually impossible to imitate.

· The question of organisation. The fourth question that can be asked is: is a company organised to exploit the full competitive potential of its resources? As indicated thus far in this chapter, a company's competitive advantage potential depends on the value, rarity and inimitability of its resources. However, to fully realise what it has, a company needs a proper organisational structure. Issues that are important in this regard are a formal reporting structure, explicit management control systems, and compensation policies. These components are referred to in the literature as complementary resources, as they have - in isolation - only a limited ability to generate a competitive advantage. In combination with other resources, however, they are capable of releasing a company's full competitive advantage.

9.
Write a short paragraph on the universal, contingency and configurational approach.

Answer: (Sec 2.3.2)

The universalistic approach to strategic HRM assumes that there are certain best HRM practices that will contribute to, for example, increased financial performance of a company, regardless of the strategic goals of the company. 

Delery & Doty identified seven practices consistently considered to be strategic in nature. The practices are internal career opportunities, formal training systems, appraisal measures, profit sharing, employment security, voice mechanisms, and job definition. It is interesting to note that these practices were utilised in several analyses to test the soundness of the three dominant theoretical perspectives mentioned earlier, namely the universal, contingency and configurational perspective. The results of the analyses provided some support for each of the three perspectives.

Other researchers argue that a contingency perspective is more appropriate to strategic HRM. The contingency approach differs from the universal approach in that research undertaken here attempts to link HRM systems/practices to specific organisational strategies. A closely related body of research calls for a configurational approach to strategic HRM and argues that it is the pattern of HRM practices/systems that contribute to the attainment of organisational goals. Similar to the contingency approach, this approach (configurational) argues that the fit of HRM practices/systems with the company strategy is a vital factor but that there are specific 'ideal types' of HRM systems/practices that provide both horizontal and vertical fit of HRM systems/practices to the organisational structure and strategic goals. The configuration of practices/ systems that provides the tightest horizontal and vertical fit with any given strategy would then be the ideal type for an organisation pursuing that particular strategy. Horizontal fit refers to the internal consistency of the organisation's HR policies or practices and vertical fit refers to the congruence of the HR system with other organisational characteristics such as the company strategy.

10.
Write a brief essay on HR's role in gaining a competitive advantage.

Answer: (Sec 2.3)

A number of paradigms have been identified that describe the contribution of HR to company performance. The first assigns value to a company's stock of human intellectual capital as a way of measuring the contribution of HR to the company's performance. The human intellectual capital researchers attempt to formalise, capture and leverage this asset (intellectual capital) to produce higher-value products. This approach can be captured in the resource-based view. The second paradigm attempts to identify HR's best practices. Researchers in this movement specify and measure the bundles of typologies of HR practices associated with the high performance of labour. The third paradigm is a new perspective which is anchored in both the resource-based view and the best-practices theory, and is known as the 'process' approach. This perspective integrates economic considerations with social legitimacy aspects. It is important to evaluate the HR component against the measures of sources of competitive advantage. 
· The value of HR. For human resources to exist as a sustained competitive advantage they must provide value to the company. It is thus assumed that there is a heterogeneous demand for labour (i.e. companies have jobs that require different types of skills) and a heterogeneous supply of labour (i.e. individuals differ in their skills and level of skills). Under these circumstances, human resources can add value to the company.

· The rarity of HR. If it is to be a sustained competitive advantage, a resource must be rare. Due to the normal distribution of ability, human resources with high ability levels are by definition rare for example, the basic premise of a selection process is to select only the individuals who possess the highest ability.

· The inimitability of HR. Human resources must be inimitable to be considered a sustained competitive advantage. Three concepts are used to demonstrate the inimitability of human resources, namely unique historical conditions, causal ambiguity and social complexity. Unique historical conditions are the historical events that shape the development of a company's practices, policies and culture. Causal ambiguity describes a situation where the causal source of the competitive advantage is not easily identified, and social complexity recognises that in many situations (e.g. team projects) competitive advantage has its origins in unique social relationships that cannot be duplicated. Thus due to the fact that many competitive advantages that might be based on a company's human resources are characterised by unique historical conditions, causal ambiguity and social complexity, it is highly unlikely that well-developed human resources could easily be imitated.

· The substitutability of HR. For a resource to be considered a sustained competitive advantage it must not have substitutes. For example, if a company has the highest ability individuals, who constitute a competitive advantage, and a competitor develops new technology that provides vast productivity increases - greater than the productivity differences in the company's ability - it will be only a matter of time before the company obtains the same technology, and then its human resources will again exist as a competitive advantage.

· Human resources can serve as a competitive advantage for the company.

The end!!!!!!!
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